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QUESTION 1

A user downloads a Microsoft Excel document from a server over an optimized connection. The transfer is very fast.
The user makes some changes to the spreadsheet and then saves the document. The transfer is very slow. The user
edited a Word document shortly before but that downloaded and saved at the same fast speeds. What happened to the
Excel document?

A. Microsoft Excel compresses and encrypts the data by default when saving Microsoft Excel data does not perform well
for LZ compression and will always be slow.

B. Microsoft Excel compresses the data by default when saving.
C. Microsoft Excel reorders the entire data stream when it saves so it is now new (cold) data to the SteelHead.
D. Microsoft Excel encrypts data by default when saving.

Correct Answer: B

QUESTION 2

How can you provide updates to multiple Steelhead Mobile clients at the same time? (Select 2)
A. Using profiles

B. Using multiple Steelhead Mobile Controllers

C. Using Group IDs

D. Using policies

Correct Answer: CD

QUESTION 3

You are configuring HighSpeed TCP in an environment with an OC-3 (155Mb/s) and 60 milliseconds of round-trip
latency. You know that the rule of thumb is to set the Steelhead appliance\\'s WAN Default Send Buffer Size and WAN
Default Receive Buffer Size to 2*BDP for the link. The buffer size setting for this link would be closest to: (Hint: Use the
calculator)

A. 4,665,000 bytes

B. 9,330,000 bytes

C. 3,110 bytes

D. 6,220 bytes

E. 2,325,000 bytes

Correct Answer: E
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QUESTION 4

In a new in-path deployment, connections are listed as pass-through on the branch office Steelhead appliance. Which of
the following is the likely cause of the problem? 1) Pass-through rule preventing optimization 2) Server-side Steelhead
appliance is down 3) Satellite proxy not copying auto-discovery probes 4) Asymmetric routing is detected for the
client/server flow 5) Duplex mismatch on WAN or LAN interface

A.32

B.2,4

C. 1,25

D.1,2,3,4

E.1,234,5

Correct Answer: D

QUESTION 5
What should you do when you receive the following message?
[rropisorcr YWaRM] 23355 (035,787 719 712 70,7 70,7 177 808y Rosctiqg.

A. Nothing. This is a warning message which means that the Steelhead appliance is resetting an internal state regarding
this connection and it should not affect user performance.

B. Switch off the Steelhead appliance
C. Create a specific pass-through rule to bypass the above source and destination hosts
D. Reload the Steelhead appliance

Correct Answer: A
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